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B 2t — 2222 — 481r — 23 = 0.

at+b+c+d = 6

2. a,b,c,d e R, B o WERKRER M, &/MES m, REE (M, m).
a’+ 20> + 32+ 64> = 10

3. Bk FEWUEE P, A B,C, H PA, PB,PC MR#EE, PA=2,PB =3, PC =6, RIHIKIENER.

4. a€R, i P(a,2) fFy = f(z) = a® — 3% + 2 WIYIRR, EATEROUTRRIGE — 15k, K o HUEEEL.

5. #F1:1,2,4.5,7,9,10,12, 14,16, 17,19, 21,23, 25, 26, - - -, {KIHAE], E5 n BES a,, K lim 2.

n—oo M

6. BB A B BT :y? = 4o FIRTEE O SMURIMHEEE, ©41 OALOB, H M £ AB F#E, OMLAB, Xk M 1
BEF TR

FHEE(3 64 27)

L B < 0, >, BT 0, = 2, BURBIR n HIRIE S, Yn € Non > 2 B, 0, 15 85, — 4 B 2 — 05, HyS2en,
(a) K a,. (643)
@)%%:%&gﬁ%+b&&ﬁg<bggwb(6ﬁ)

2. FHA 1023 ATLAKERR 2999 4 2888 4 9777 .. 4 9222 4 9l 41 (110 43)

3. —8hE m EEERE o @B, B8R —RE—BK, WEAHRE, BERESEREOETEL, KATEORBEHLE. (
10 43)

4. WE, ABCD REER 1 WIEAK, I PQ B, #15 A B $iTe&oREAR A, B W%, H B % CDE,

Al‘

(a) ¥ ARB'D WEARE 2. (6 47)
(b) K AQB'C W& KHTE. (6 45)

5. TE#E ABCD ¥1,M,N %518 AD, BC #jH%8, MNL1AD B MN_1BC, %1
(a) AB=CD. (5%)
(b) AC = BD. (5 %)

6.{ Y ,RFEBEERE. (10 43)
r+y+z = 0



